AEKATH EBAOMH (17) NATKYIMPIA AOTIZTIKH OAYMIIAAA
KYPIAKH 12 MAPT10Y 2023

ENINEAO 1

(17 o€lideg 25 epwTAHOEIQ)

INSTRUCTIONS TO CANDIDATES

For each question, choose and circle the best answer A, B, C, or D, using the
answer sheet provided.

OAHIIEZ MPOZ TOYZ2 AIACONIZOMENOYZ

Na KABe epwTNON, ETIAECTE KAl KUKAWOTE T KOAUTEPN atrdvinon A, B, ' n A
XPNOIUOTTOIWVTAG TO €I0IKO QUAAO yIa TIG ATTAVTAOEIS 0AG.

© © © G O0O0ODb L UCK © © ©

KAAH ENITYXIA

1 Which of the below is not a characteristic of a sole trader?

Separate business entity
Unlimited liability of the owner
Owned by one person
Separate legal entity

OO w>

1 Toio a1rd Ta Mo KATW BEV €ival XapAKTNPIOTIKO TNG ATOUIKAG ETTIXEIPNONG;

A Exel EexwploTh AoyioTikr) uttdoTOoN

B Ymdpxel TpoowTTIKA Kal atTEPIOPIOTN €uBUVN
Ir  Avikel o€ éva drouo

A Ocwpeital vouikd TpOdowWTTO

2 Which statement is incorrect?

Assets = Liabilities + Capital
Capital = Assets — Liabilities
Capital - Liabilities = Assets
Liabilities = Assets — Capital

OO0 wm>
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2 [Moia atrd TIG TTapakATw 1I00TNTESG BEV gival 0pBN;

EvepynTiké = MadnT1IKS + KepdAaio
KegpdaAaio = EvepynTiko - MNabnTikd
KegpaAaio — MadnT1iké = EvepynTikd
MadnT1ik6 = EvepynTiko — Ke@dAaio

B W >

3 When the owner withdraws cash from the business for private use, the effect on
assets, liabilities and capital is:

Assets Liabilities Capital
A Increase + Increase +
B Decrease - Decrease -
C Decrease - Decrease -
D No effect Decrease -

3 Orav o emXEIPNUATIAG ATTOCUPEI HETPNTA ATTO TNV ETTIXEIPNON VIO TTPOCWTTIKY (101WTIKN)
XPAoN, N €TTidpacn OTO evepyNnTIKO, TTABNTIKO Kal KEQAAQIO gival:

EvepynTikd MadnTiKO KegpaAaio
A AlG¢non + Augnon +
B Meiwon - Meiwon -
I Meiwon - Meiwon -
A Kapia etmidpaon Meiwon -

4  Which of the following statement(s) is correct?

()  The amount debited is not always equal to the amount credited

(i) A transaction may affect only asset accounts

(i) The left-hand side of an account is called credit

(iv) The details entered in one account is the name of the other affected account

A (i) and (iv)
B (i) and (iv)

C (i) and (iv)
D (i) and (iii)
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4  Toia (A TToIEG) aTTO TIG TTI0 KATW TTPOTACEIS €ival 0pBNj;

(i) To 1mood TNG Xpéwang dev gival TTAVTOTE 00 YE TO TTOOO TNG TTIOTWONG

(i)  Eivan duvatd pia ouvaldayn va eTnpeddel pévo Aoyaplaououg evepynTIKOU
(i) H apioTepn) TAEUPA TOU AoyaplacpoU OVOPAZETal TTIOTWOoN

(iv) O kGBe Aoyaplaopdg £xel WG AITIOAOYIa TO Gvoua ToU GAAOU AoyapliacuouU TTou

eTTNPEAgeTAI
A (i) and (iv)
B (i) and (iv)
(i) and (iv)
A (i) and (iii)

5 Which statement is correct?

sales = cost of sales — gross profit — sales returns
sales = cost of sales — gross profit + sales returns
sales = cost of sales + gross profit — sales returns
sales = cost of sales + gross profit + sales returns

0O w>

5 Tloio amd Ta 1o KATw gival opBo;

TTWAROEIC = KOOTOG TWV TTWANCEWYV — PIKTO KEPDOOG — ETTIOTPOPES TTWANTEWV
TTWANCEIG = KOOTOG TWV TTWARCEWYV — JIKTO KEPDOG + ETTIOTPOPES TTWANCEWV
TTWANCEIG = KOOTOG TWV TTWARCEWV + PIKTO KEPOOG — ETTIOTPOPES TTWANCEWV
TTWANCEIG = KOOTOG TWV TTWANCEWV + PIKTO KEPDOG + ETTIOTPOPES TTWANCEWV

B W >

6 Alexandros sells goods on credit to Achilleas.
How will this transaction be recorded in the books of Achilleas?

Account to be debited Account to be credited
(i) Sales Achilleas
(i) Achilleas Sales
(i) Alexandros Purchases
(iv) Purchases Alexandros
A (iii)
B (ii)
C ()
D (iv)
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6 O AANECavOPOG TTWAE euTTOPEUMOTA PE TTIOTWOT OTOV AXIAAEQ.
Mwg Ba kataypa@ei autr) n ouvaAlayr ota BiBAia Tou AXIAAEQ;

/A\oyapIaouOC TTPOC XPEWON AoyapiaouoC TTPOoC TTIoTWoN

() MNwAnoeig AxIANEéag
(i)  AxiIAAéag MwAAoeIg
(ii)  AAEgavdpog Ayopég
(iv) Ayopég AANEEavOpOg
A (i)
B (i)
r
A (iv)

7 Why does a business maintain an allowance for receivables account?

To apply the consistency concept
To apply the prudence concept

To apply the double entry principle
To apply the matching concept

OO w>

7 ToTti wa emmxeipnon diatnpei Aoyapiacuo TTPORAEWEIS yIa ETTICQAAEIG ATTAITHOEIG;

MNa va epappooel TNV apxr TG OPOIoPoPYPIag — CUVETTEIQG (consistency)
MNa va epappooel TNV apxn TG ouvTnenTIkOTNTAG (prudence)

MNa va epappooel TRV apxn Tng dimAoypagiag (double entry principle)
MNa va epappoaoel TRV apxn TNG ouoxETiong (matching)

B W >
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8 You are given the following account:

Purchases account

2022 € 2022 €
Jan - Dec Trade payables 5150 Jan - Dec Drawings 1200
Jan - Dec Bank 3 200
Jan - Dec | Cash 2100

Based on the above account, which of the following is wrong?

OO wm>

The owner took goods €1 200 for own use
Purchases on credit amounted €5 150
The amount of purchases to show in the statement of profit or loss is €10 450
The amount of purchases to show in the statement of profit or loss is €9 250

8 Zag divetal o 1o KATW AoyapIaouOG:

Noyaplaoudg AyopéEg
2022 € 2022 €
lav - Aek  TMoTwTEG 5150 lav-Aek ATTOARWEIg 1200
lav - Aek  TpaTtrela 3 200
lav - Aek = MeTpntd 2100

Molo atd Ta akdAouba gival AdBog;

A

@)

9  Which of the below is not a book of original entry?

OO0 wm>r

Purchases Day Book
Sales Day Book
General Ledger
The Journal

O 1810kTATNG TTAPE aTTd TNV £TMIXEipNON euTTopEeUpaTa €1 200 yIa TTPOCWTTIKN
xpnon
O1 ayopég pe TioTwon avépyovTal o€ €5 150
Oa kataxwprooupe ayopég €10 450 0Tn KATACTOON ATTOTEAEOUATWY XPrONG
Oa kataxwprooupe ayopég €9 250 katdoTaon aTToTEAECUATWY XPHong
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10

10

Moio a1rdé Ta 1Mo KATW d¢v gival BondNTIKG BIBAIO;

B W >

2022
Janl
Jan - Dec
Jan - Dec
Dec 31

BiBAio Ayopwv
BiBAio NMwAAcewv
Mevikd KaBoAikd
To HuegpoAdyio

Unused stationery

Stationery purchased by cheque
Stationery purchased on credit
Unused stationery

€

100
500
350
180

How much should be charged for stationery in the Statement of Profit or Loss for the
year ended 31 December 20227

€1 130
€950
€770
€850

OO0 wm>

2022
lav 1
lav — Agk

lav - Agk
Agk 31

ATTé0epa ypa@ikng UANG

Ayopd ypa@IKnG UANG PE ETTITAYN
Ayopd ypa@IKrnG UANG PE TTioTWOoN
ATTO0gpa ypa@Ikns UANG

€

100
500
350
180

Méoo Ba xpewobei yia ypa@IkA UAN n KATAOTACH OTTOTEAECUATWY XPAONG YIA TO £€TOG
TToU TeAgiwoe oTig 31 Aekeuppiou 2022;

€1 130
€950
€770
€850

B W >
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11 What would be the totals on a trial balance given the following balances:

€ €

Trade receivables 10 640 Equipment 3 560
Trade payables 8 000 Cash 2180
Bank overdraft 5 000 Machinery 8 350
Land and Buildings 30 400 Inventory 6 160
5% Bank loan 4 000 Capital ?
Accumulated depreciation 3 850 Allowance for receivables 532

A €61290

B €65290

C €66 290

D €65 140

11 Toia Ba gival Ta cuvoAIkad aBpoicuarta Tou Ico{uyiou Pe BAon Ta TTIo KATW UTTOAOITTA:

€ €
XPEWOTEG 10 640 E€otAiouog 3 560
MoTwTEG 8 000 MeTpnTd oTO TOUEIO 2180
Tpatedikd TTapaTpdpnyua 5000 Mnxavruata 8 350
'n ka1 KTAPIa 30 400 Eptropetpara 6 160
5% TpaTtreCIko dAveEIO 4 000 Kegpdhaio ?
2UCCWPEUNEVEG ATTOORETEIG 3 850 MpoBAEWeIg yia 532

ETTIOQAAEIC ATTAITAOEIG

€61 290
€65 290
€66 290
€65 140

B W >

12 Identify the effect on profits if revenue expenditure is treated as capital expenditure.

Gross profit overstated

Gross profit understated

Gross profit and profit for the year overstated
Gross Profit and profit for the year understated

OO0 wm>»
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12

13

13

Mola Ba cival n emidpacn oTa KEPON av Ta AsiIroupyikd £0da kataxwpndouv Katd
AGBOG WG KeEPaAaIOUXIKA £€00a.

YTTePTiNNON YIKTOU KEPOOUG

YT1TOoTigNon YIKTOU KEPOOUG

YTTePTiUNON MIKTOU KEPBOUG Kal Kabapou KEPOOUG
YTToTiunon YIKTOU KEPOOUG Kal KaBapou KEPOOUG

B W >

The following transactions took place in February 2023 between Eleana and her credit
customer Georgia:

Feb 1 Georgia owed Eleana €500
14 Georgia purchased goods, list price €600, less 25% trade discount
22 Georgia returned goods with a list price of €80

How much Georgia owes to Eleana at the end of February?

€1 020
€890
€870
€1 040

OO >

O1 ak6AouBeg ouvaAlayég TTpayuaToTToindnkav Tov OeBpoudpio Tou 2023 ueTagu Tng
EAedvag kal Tng €T MIOTWOEl TTEAATN TNG [Ewpyiag:

Pef 1 HTlMewpyia xpwoTtouoe otnv EAedva 500 gupw
14 H lewpyia ayopace gutropevpata €600, peiov 25% eUTTOPIKA EKTTTWON
22 Hlewpyia eTéoTpeywe eutTopeUpaTa €80 TTOU dEV CUNTTEPIAQUPBAVEI TNV
EMTTOPIKN EKTTTWON

Ti o006 XpwoTd n Mewpyia otnv EAedva oto TEA0C Tou e pouapiou;

€1 020
€890
€870
€1 040

B 7w >
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14 You are given the following information:

14

€
Opening inventory 15 500
Carriage outwards 3 200
Purchases 45 700
Carriage inwards 2 200
Sales 71000
Closing inventory 16 400
Gross profit 22 000
Returns inwards ?

What is the amount of returns inwards?

€2 000
€3 000
€4 000
€1 000

OO w>

2.ag divovTal ol aKOAOUBEG TTANPOPOPIEG:

APXIKO UTTOAOITTO EUTTOPEUPATWV
MeTagopég TWAROEWY

AYOpPEG EUTTOPEUPATWV
MeTagpopEg ayopwv

MwANOCEIG EPTTOPEUNATWV

TeAIKO UTTOAOITTO EUTTOPEUNATWV
MikTd kK€EpdOG

EmoTpopég TTwANoEWY

15 500

3200
45 700

2 200
71 000
16 400
22 000

Molo gival To TT000 TWV ETIOTPOPWYV TTWAACEWYV;

€2 000
€3 000
€4 000
€1 000

B W >
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15 You are given the following information:

15

€ €

Gross profit 30 000

Add: Other income

Commission (€500 per quarter)

Less: Expenses

Salaries 6 000

Rent (€750 per month) ?

Motor expenses 2 000

General expenses ? ?

Profit for the year 10 000
Which of the following is correct?

General expenses Total expenses
A €5 000 €21 500
B €4 000 €22 500
C €5 000 €22 000
D €2 000 €32 000
2ag divovTal oI aKOAOUBEG TTANPOYOPIEG:
€ €

MikTd K€EPBOG 30 000

2uv: ANa £€000a

MpopnBeia (€500 1o TPiuNvo)

MAnv: €¢oda

MioBoi 6 000

Evoikia (€750 Tov pAva) ?

‘E¢oda auToKIvhTOU 2 000

evika £€00a ? ?

KaBapd kEpdog 10 000
Molo atrd Ta 1Mo KATW gival 0pBo;

[evika £€00a 2UVOAIKG £€0da

A €5 000 €21 500
B €4 000 €22 500
r €5 000 €22 000
A €2 000 €32 000
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16

16

17

17

A sole trader provided the following information:

€
Capital at start 50 300
Capital at end 60 000
Drawings 3 500
Additional capital 18 000

What is the amount of profit or loss for the year?

€4 800 loss
€24 200 loss
€11 000 profit
€27 700 profit

0O w>

Mia aTopIKA €TTIXEipNON €XEI TIC AKOAOUBEC TTANPOYOPIEG:

€
APXIKO KEQAAQIO 50 300
TeAIKS Ke@AAaiO 60 000
ATTONAYEIG 3 500

EmmpdoBeTo kKeadAaio 18 000
Molo gival To KaBapd kEPDOG A CNUIA TG XPOVIAG;

€4 800 ¢nuid
€24 200 ¢nuid
€11 000 k€pdog
€27 700 ké€pdog

B W >

The reducing balance method of depreciation consists of:

Equal amounts of depreciation each year
Reducing amounts of depreciation each year
Increasing amounts of depreciation each year
Unequal amounts of depreciation each year

OO0 wm>»

H péBodog gBivoucag amdéofeong ocuviotaral aTo:

loa TTood aréoREong KABE Xpodvo

Ta Tood TNG ardéoREONS MEIWVOVTAI KABE XpOVo
Auavopueva TTood ardoBeong KAbe xpodvo
Avioa Tood amméoBeong KABe Xpovo

B W >
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18 The following refers to the current assets:

18 O 1o KATW gival Aoyapiaouoi Tou KUKAOQOPIAKOU EVEPYNTIKOU:

19

Option 1
Inventory

Trade receivables
Rent prepaid
Cash

Bank

Option 2
Inventory

Trade receivables
Rent prepaid
Bank

Cash

Option 3
Trade receivables

Inventory
Rent prepaid
Bank

Cash

Option 4
Cash

Bank

Rent prepaid
Trade receivables
Inventory

The correct order to show the above current assets items in the statement of financial

position is:

A Option 4
B Option 2
C Option 3
D Option1

EmAoyi 1
Eutropevpara
XPEWOTEG
MpoTTAnpwpéva
gvoikia

Taueio
Tparmreda

EtmiAoyn 2
Eutropeupara
XPEWOTEG
MpoTrAnpwpéva
EVOIKIQ
Tpatela
Tapeio

EmiAoyn 3
XPEWOTEG
Eptropeupara
MpoTTAnpwpéva
EVOIKIQ
Tpamrela
Tapeio

EtiAoyn 4
Tapueio
Tpartrela
MpoTTAnpwpéva
EVOIKIQ
XPEWOTEG
Eutropedpara

H ocwoTh oeipd TTou TTPETTEI VA EPAVIOTOUV TA TTI0 TTAVW OTN KATACTAON
XPNMUATOOIKOVOWIKNAG B€ong cival:

A Emhioyn 4
B EmAoyn 2
I EmAoyn 3
A EmAoyA 1

A trader purchases goods with a list price of €1 500.

He receives a trade discount of 20% and a cash discount of 2%.

What amount should be entered in the purchases account?

€1 200
€1 176
€1 470
€1 500

OO0 w>
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19

20

20

‘Evag Eutropag Tou aydpaoe epgtropeupata €1 500, TrMpe euTTOPIKN EKTITWON 20% KOl
TAMEIOKN EKTTTWON 2%.
TiI TTOOO TTPETTEI VO KATAXWPENOEI 0TO Aoyapiacud ayopEg;

€1 200
€1176
€1 470
€1 500

B W >

During the year ended 31 December 2022 the following payments were made for rent
at €300 per month.

Date paid Period covered

1 January 2022 1 December 2021 to 30 April 2022

1 May 2022 1 May 2022 to 31 August 2022

1 October 2022 1 September 2022 to 28 February 2023

Which of the following is correct?

At 1 January 2022 At 31 December 2022
A Rent prepaid €300 Rent due €600
B Rent due €300 Rent prepaid €300
C Rentdue €300 Rent prepaid €600
D Rentdue €600 Rent prepaid €600

Katd mn didpkela TG AoyIoTIKAG XPoVIAS TTou €kAgioe OTIG 31 AgkepBpiou 2022, £yivav
o1 akOAouBeg TTANPWES yia To evoikio TTou Atav €300 Tov Prva.

Huegpounvia TANPWUAC [Na ypovikA 1TEPiodo

1 lavouapiou 2022 A6 1 AekepBpiou 2021 péxpr 30 AtrpiAiou 2022
1 Maiou 2022 A16 1 Mdiou 2022 péxpl 31 AuyouoTou 2022
1 OkTwRpiou 2022 A6 1 ZemrrepPBpiou 2022 péxpr 28 dePpouapiou 2023

Molo a1rd Ta akdAouba gival cwaoTo;

Tnv 1" lavouapiou 2022 Tnv 31" AekepuBpiou 2022
A TMpotmrAnpwpéva gvoikia €300 OgelNdpeva evoikia €600
B OgeiAopeva evoikia €300 MpotmAnpwpéva evoikia €300
I OgelAdpeva evoikia €300 MpotAnpwpéva evoikia €600
A  Oopel\dpeva evoikia €600 MpoTtrAnpwpéva evoikia €600
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21 You are given the following incomplete account:

Rent and rates account

2022 € 2022 €
Jan 1 Bank (rent - 6 months) 3 600
Jan 1 Bank (rates - 10 months) 1 000
Jul 1 Bank (rent - 9 months) 6 300
Which of the following is correct for the year ended 31 December 20227
Yearly Rent Rent Rates Rates
expenses prepaid due prepaid Due
A €9 500 €1 400 - - €100
B €8 800 €1 800 - - €100
C €8 800 - €1 800 €200 -
D €8 800 €2 100 - - €200
21 2ag diveral ol Mo KATWw aTteANG Aoyaplaouog:
Noyaplaopdg evoikia Kal dnNUOTIKOI ¢OpOl
2022 € 2022 €
lav 1 Tpdmeda (evoikio - 6 PNVEQ) 3 600
lav 1 Tpdmela (popol - 10 prveqg) 1 000
louA 1 Tpdrmeda (evoikio - 9 PAVEG) 6 300

Molo a1d Ta akdAouBa gival 0pBO yia TNV xpovid TTou TeAgiwoe oTig 31 Aek. 2022;

ETAcIO MpoTTAnpwpuéva
‘E¢oda evoikia

A €9 500 €1 400

B €8 800 €1 800

C €8 800 -

D €8 800 €2 100

O@eINdpeva
gvoikia

€1 800

MpoTTAnpwpévol
Popol

€200

OgelAbpevol
@OopoI

€100
€100

€200
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22 A business had the following expenditures:

Purchase of a new machinery €30 000
Delivery cost of the new machinery €200
Installation cost of the new machinery €300
Replace the tyres of an old motor van €600
Electricity bill €400
Wages and salaries €10 000

Which of the following combination is correct?

Capital expenditure Revenue expenditure

A €30000 €11 500
B €30600 €10 900
C €31100 €10 400
D €30500 €11 000

22  Mia TTIXEIPNON €iXE TA TTI0 KATW KEPAAQIOUXIKA KOl AEITOUPYIKA £€00a:

Ayopd KaIvoupylwv INXavAPaTwy €30 000
‘E€0da TTapadoong Twv INXaVAPOATWY €200
‘E€0oda TOTT00£TNONG TWV PMNXAvAUATWV €300
AVTIKATAOTAON EAAOTIKWY TTAAIOU QUTOKIVHTOU €600
HAeKTPIOUOG €400
MioBoi kal nuepouioBia €10 000

Molog ouvduacpog aTod Ta 1o KATw gival opBaog;

KepaAaiouyikd £€oda AgIToupyikd £€0da

A €30 000 €11 500
B €30600 €10 900
r €31100 €10 400
A €30500 €11 000

23 The double entry to record irrecoverable debts recovered in the accounts would be:

Account to be debited Account to be credited
A Bank Irrecoverable debts
B Irrecoverable debts recovered Trade receivables
C Irrecoverable debts Irrecoverable debts recovered
D Bank Irrecoverable debts recovered
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23 H AoyIioTIKn eyypa@n yia i0TTpagn €MOoQAAwV/dIaypa@EéVIwyY aTTAITAOEWY Eival n

ak6Aoubn:
XpEwon MioTwon
A Tpamela Emogaleic ammaitioeig
B Eiompaén emo@aiwyv amaitioswyv XPEWOTEG
I Emogalcig atraitoeig Eiotrpagn emo@aAwyv amaimioswyv
A Tpatela Eiomrpagn emo@aAwyv amaimioswyv
24

Cost price of Motor van €48 000

Scrap value €8 000

Date of purchase 31 March 2020

Useful economic life 5

Method of depreciation Straight line method - for each month of ownership

What balance will be on the accumulated depreciation account at the end 31
December 20227

€20 000
€22 000
€26 400
€18 000

OO w >

24
KooTtog ayopdcg autokivntou €48 000
YTToAEIyuaTIKA agia €8 000
Huepounvia ayopdg 31 Maprtiou 2020
Xpovia WeEANUNG CwAG 5
MéBodog atmréofeong MéBodog oTabepr¢ amméoBeong

MNa kGBe uva xprong

Molo Ba gival To UTTOAOITTO OTO AOYAPIACHO CUCCWPEUNEVES ATTOORECEIS AQUTOKIVATWY
o010 TEAOG TNG XPOoVIAG TTou ékAeloe oTIG 31 AekeuBpiou 2022;

€20 000
€22 000
€26 400
€18 000

B W >
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25 A business makes an allowance for receivables at 2.5% every year.

25

On 1 January 2022 the allowance for receivables was €300.
On 31 December 2022 the trade receivables balance was €20 000.

What is the amount to be charged for allowance for receivables in the Statement of
Profit or Loss for the year ended 31 December 20227

A €300
B €800
C €500
D €200

Mia etmixeipnon €xel kavel TTPpORAewn 611 2.5% a11d TOUG XPEWOTEG dEV Ba TTANPWOOUV
TIG OQEIAEG TOUG.

Tnv 1 lavouapiou 1o TTO0G 0TO Aoyapiaoud TTPORAEWYEIS yIa ETTICQAAEIG ATTAITHOEIG
ntav €300.

211G 31 AekepBpiou TO UTTOAOITTO TWV XpPewoTwV ATav €20 000.

Me 11 TTO0O Ba xpewbBei 0 Aoyaplaouog TTPORAEWEIS yIa ETTICQPAAEIC ATTAITAOEIS OTA
AtroteAéopaTa Xpriong oTig 31 AekeuPBpiou 2022;

€300
€800
€500
€200

B W >

-TEANOZXZ -
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